
Division par 10⁻¹ (C)Trouvez chaque quotient.
7,16 ÷ 10⁻¹ = 4,9592 ÷ 10⁻¹ =
4,9404 ÷ 10⁻¹ = 4,3691 ÷ 10⁻¹ =
7,267 ÷ 10⁻¹ = 7,81 ÷ 10⁻¹ =
3,8016 ÷ 10⁻¹ = 2,4 ÷ 10⁻¹ =
2,664 ÷ 10⁻¹ = 9,6 ÷ 10⁻¹ =
9,855 ÷ 10⁻¹ = 9,3 ÷ 10⁻¹ =
8,9666 ÷ 10⁻¹ = 1,9172 ÷ 10⁻¹ =
1,245 ÷ 10⁻¹ = 3,742 ÷ 10⁻¹ =
7,83 ÷ 10⁻¹ = 5,119 ÷ 10⁻¹ =
8 ÷ 10⁻¹ = 3,109 ÷ 10⁻¹ =
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Division par 10⁻¹ (C) SolutionsTrouvez chaque quotient.
7,16 ÷ 10⁻¹ = 71,6 4,9592 ÷ 10⁻¹ = 49,592
4,9404 ÷ 10⁻¹ = 49,404 4,3691 ÷ 10⁻¹ = 43,691
7,267 ÷ 10⁻¹ = 72,67 7,81 ÷ 10⁻¹ = 78,1
3,8016 ÷ 10⁻¹ = 38,016 2,4 ÷ 10⁻¹ = 24
2,664 ÷ 10⁻¹ = 26,64 9,6 ÷ 10⁻¹ = 96
9,855 ÷ 10⁻¹ = 98,55 9,3 ÷ 10⁻¹ = 93
8,9666 ÷ 10⁻¹ = 89,666 1,9172 ÷ 10⁻¹ = 19,172
1,245 ÷ 10⁻¹ = 12,45 3,742 ÷ 10⁻¹ = 37,42
7,83 ÷ 10⁻¹ = 78,3 5,119 ÷ 10⁻¹ = 51,19
8 ÷ 10⁻¹ = 80 3,109 ÷ 10⁻¹ = 31,09
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